Target 7 Sheet O4A

Question 1

8

f(x)zﬁ, glz) =3z

(a) Find f(—1)

(b) Find gf(4)

Question 2

Find the nth term of this quadratic sequence:
-1, 9, 21, 35, 51,...
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Question 2

Find the nth term of this quadratic sequence:
-1, 9, 21, 35, 51,...

The first differences are: 10, 12, 14, 16
The second differences are: 2, which means the sequence

has nth term n® + bn + ¢
Son?+bn+c: —1, 9, 21, 35, 51,...
And n? : 1,4, 9, 16, 25, ...
ie. bn+c: —2, 5, 12, 19, 26, ..
sob=T7and c= -9

So the nth term of the quadratic sequence is n> + 7n — 9



